SH: AS =X D
B FOHOIST (MEIST/HANERR)
Sl FOIHE

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

A3l £ Xl 89,173,170 76,534,900 12,638,270
= 52,360,789
Xl 200,000
J| 523,950
&< 11,940,365
Al 24,148,066

DO Z R (SIS X /HAHSKS) 10,613,733 8,886,688 1,727,045
2 4,836,612
= 992,530
Al 4,784,591

Y UIEIBES 10,613,733 8,886,688 1,727,045
= 4,836,612
== 992,530
Al 4,784,591

HOHES(IIx) 405,597 295,440 110, 157
= 283,918
Al 121,679

301 LBt A= 405,597 295,440 110, 157
= 283,918
Al 121,679

01 Al E & A 452 405,597 295,440 110,157
OJI=x= ZOoH==Z(900Y) 405,597
= 283,918
Al 121,679

PN RN ER=1]] 963 481 482
= 770
Al 193

301 et A= 963 481 482
= 770
Al 193

01 Al E & A 462 963 481 482
OZHof el XHH8HH| (29) 963
= 770
Al 193

OIS S & EHH| 1,806 1,806 0
= 903
Al 903

301 YptE A 1,806 1,806 0
= 903
Al 903

01 Al E& A 63 1,806 1,806 0
QR &2 X Y| (158Y) 1,806
= 903
Al 903

0K 219 2 1l 105,835 94,900 10,935
2 84,668
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Akl = X1 ot
ZOHA =S X (A EX/HAHESXH)
ZOHAAS

SN FH-SA(EN) - MBAY - BES

=
i

2

Al

21,167

H

Al

105,835

84,668
21,167

94,900

10,935

= H

105,835

105,835

84,668
21,167

94,900

10,935

Z W

,830,374
,981,262

254,734
594,378

2,497,386

332,988

Z W

,830,374
,981,262

254,734
594,378

2,497,386

332,988

= n

,830,374

,830,374
,981,262

254,734
594,378

2,497,386

332,988

ZOHotSIH=E

= Hn

207,733
145,412
31,032
31,289

207,120

613

307 21201 &

= 0 W

207,733
145,412
31,032
31,289

207,120

613

= W = M W = N H

= N W

207,733

171,511
120,058
25,727
25,726
21,600
15,120
3,240
3,240
12,474
8,730
1,872
1,872
2,148
1,504
193

451

207,120

613

H

5,113
4,090

6,171

A 1,058
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=

i
2m
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1,023

H

Al

5,113

4,090
1,023

6,171

A 1,058

= H

5,113
5,113

4,090
1,023

6,171

A 1,058

Z W

156,200
7,600
2,280
5,320

15,200

402 RIZ2tXt=01
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7,600
2,280
5,320

15,200

e
=)
|‘U
>
i
>
Qe
HL
P

@)
o
=]
hh
0z
==
e

ey

FA

(42t)

= n

156,200

15,200
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= Hn

3,025,287
1,259,432
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1,473,488

2,526,630

498,657

301 Yere A

= M
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1,600
2,400

4,000

O
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2
e
Ju

XMHEA 2LEHZ(2Y)

= M

4,000

4,000

1,600
2,400

4,000

307 glztol &

=z N H

3,021,287
1,259,432

290,767
1,471,088

2,526,630

494,657

05 QIRt2lE =

= Hn

= M

,021,287

,699,189
,259,432

161,928
1,277,829
322,098
128,839
193,259

— N W

2,526,630

494,657

H A

6,000

4,200
540

2,000

4,000
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2N
X ZH -
L= B

el

Akl = X1 ot
ZOHA =S X (A EX/HAHESXH)
ZOHAAS

= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
Al 6,114
01 M2 X +0l= 12,228 12,626 A 398
OFMAERIF & BHo&H(22Y) 6,034
= 3,017
Al 3,017
Osz0dHMY 2dHAFHSHI(3Y) 1,800
S 900
Al 900
OF2ATMY OlsIHHIRS(24Y) 1,460
S 730
Al 730
QA EH EHEAH (3Y) 2,934
= 1,467
Al 1,467
402 QI2tXt=01 & 10,000 10,000 0
= 3,000
Al 7,000
012 tEAMmdEx 10,000 10,000 0
OSSHOMHY =AHSAMS(22t7) 10,000
S 3,000
Al 7,000
405 Ab&HFH SHI| 5,000 5,000 0
01 et 22 S| 5,000 5,000 0
Ooxoel HANS &3 5,000
Fojel=si22AE 230,000 0 230,000
401 AIEHIZ 2 CHHI 230,000 0 230,000
01 A& dl 230,000 0 230,000
O =x2 A 230,000
FOA=SRAIE 2,945,867 2,465,319 480,548
= 765,789
= 342,610
Al 1,837,468
307 212t0l & 2,943,367 2,441,319 502,048
= 765,789
= 342,610
Al 1,834,968
10 M SXNANEEE2SHES 2,943,367 2,441,319 502,048
OFL A=AE2E(1HA) 1,093,985
= 765,789
= 54,699
Al 273,497
OO HNAHEANE 2SS (3MA) 757,051
= 24,711
Al 732,340
OAZZEHe MRSHH 22 (19HA) 133,900
S 6,800




AN ALEI =X
HH: ZHA=SX (M SX/FHLASKH)

SHol: BOHOIHE EERED
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
Al 127,100
O2SSAHHE 2 (1HA) 142,655
T 5,650
Al 137,005
OF2UEsAE 294l (2MA) 158,305
& 40,000
Al 118,305
OAZZOR =22 SHE 29H|I(10HA) 80,000
< 40,000
Al 40,000
OXHQ ZSMEIE 29H|(2MA) 87,371
[ 4,000
Al 83,371
OISR AIE SAR =S (56YY) 145,600
T 72,800
Al 72,800
OZHQIME AIBE XS OF2HEE(49) 7,300
& 3,650
Al 3,650
OXNHQUHEHYAIL XNAHSE(1HA) 50,000
< 15,000
Al 35,000
OZOMCIJIZSXNRALEH 2D (1M A) 89,200
OSSHOMAMC Argl 22l (2Y) 78,000
= 27,300
Al 50,700
OZSSHMHAX S MEHE (1IHA) 120,000
& 48,000
Al 72,000
402 212t X201 A 2,500
01 DIZtAI2AMEEX 2,500
OAMZLEOHQIF AL SHE & A0 7 (20
) 2,500
S (RNARAS) 322,526
= 225,768
Al 96,758
301 dEtEAZ 322,526
= 225,768
Al 96,758
01 AL EE & 2352 322,526
OXAAF =S (679H) 322,526
= 225,768
Al 96,758
ool M Eory 95,000
= 2,400
T 20,300
Al 72,300
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A AMIEX
HM: LoEX(AMIEX /0 - HAH)
& ZQSEXAIE e (CHe &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
& 3,432,841
Al 9,162,834
LoIEXAlAE 22 3,725,374 3,456,514 268,860
= 244 811
& 361,489
Al 3,119,074
S3& F2E 22| 3,183,194 2,999,664 183,530
= 194,066
== 346,265
Al 2,642,863
301 et A= 141,834 139,464 2,370
= 34,866
& 31,379
Al 75,589
01 Al B & A 462 141,834 139,464 2,370
OZ2Y 2=2H[(41001 ) 141,834
= 34,866
= 31,379
Al 75,589
307 212t0| & 1,968,000 1,963,200 4,800
= 159,200
o= 314,886
Al 1,493,914
11 A EXAIEE X 1,968,000 1,963,200 4,800
Odzeg2d L eyl (41000 4)
3,200,000& *4100H 2~ 1,312,000
= 35,760
Al 1,276,240
OZ2Y SHI|LHEH| (41000 A)
1,500,000 *4100H £ 615,000
= 149,250
o 263,206
Al 202,544
OZ2Y HWeHd| (41000 4) 100,000 *41004 2 41,000
= 9,950
= 15,920
Al 15,130
402 It X0l & 1,073,360 897,000 176,360
01 QIZEXIE2AIE 2 X 1,073,360 897,000 176,360
OCEdisaAH(IF=2E) MA= 118,250
OdgadEzeg A= 96,600
Oushs 3z s 116,910
OJI=6,7,88 d2Y A= 86,600
OZ=2E O3l B4 450,000
OP2Y A7 205,000
LOIQCAIE N 136,490 65,000 71,490
= 50,745
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A AMIEX
HM: LoEX(AMIEX /0 - HAH)
B ZoEX AL 22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— SHSIEANE ABRE 22 4,000
—SLAESHE ME2 1,500
— 22X Agord e &
4 500 x 128 2H 108
02 22244l 40,720 33,480 7,240
O332=2 % HA 20,480
— Z24H3IEANAE HIIR2S 1,400,000 x12& 16,800
— SESIEAE Motlx=ER22
100,000 x12& 1,200
—ZAFAE BENNRSD
1,000,000 23] 2,000
— 243 HANE MEJHAIERE
40,000 x12& 480
OA & &l 8 XYl 20,240
— S4HSIEAAE SIEZ X E 2 AL
JIH A A& KX 2el 15,000
— B24AGIEANE ROBHAIAB KX 22
150,000 x12& 1,800
— SAHSIEAAE M|t L2
120,000 x12& 1,440
— 2ASIEAAE UWIIHHSAE =&
1,000,000 x23] 2,000
206 24 252,000 252,000 0
01 X2 bl 252,000 252,000 0
OZBLSEH 8RS 12,0002] E1*x1,7502 x12& 252,000
CEME OFY BE 47,477,600 34,859,964 12,617,636
= 38,362,488
o= 3,071,352
Al 6,043,760
Iz 2 41 472,421 29,482,669 11,989,752
= 37,323,300
o= 829,407
Al 3,319,714
201 et d| 1,120 0 1,120
01 AFR 2t 2| bl 1,120 0 1,120
osd44 70,0003 x4H x4 3] 1,120
301 LBt A= 41,471,301 29,482,669 11,988,632
= 37,323,300
= 829,407
Al 3,318,594
01 Al E & A 462 41,471,301 29,482,669 11,988,632
OPIES S 41,471,301
= 37,323,300
& 829,407
Al 3,318,594
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376,305
80,637
99,357
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A S XA E =

OSHEQ U A ItA

= N W

556,299

556,299
376,305
80,637
99,357

507,557

48,742

=z N W

509, 149
356,405
76,371
76,373

659,230

A 150,081

307 glztol &

=z N W

509, 149
356,405
76,371
76,373

659,230

A 150,081
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= N H

509, 149
491,258

343,881
73,688
73,689
17,891
12,524

2,683
2,684

659,230

A 150,081

= N H

360,000
288,000
36,000
36,000

240,000

120,000

307 glztol &

= HnH

360,000
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120,000

= 0 W
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M AR =X
M Lol=X| (A=K /0 - BAE)
SRl REME O¥Y D& (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
4 D122 E2XREES 6,000 6,000 0
Ookolgdiiel ot 6,000
301 L2 A3 3,360 3,360 0
= 840
Al 2,520
01 Al EE H =06l = 3,360 3,360 0
OF&sY DHEX HIWSHl  480,000&*7H 3,360
< 840
Al 2,520
307 glz2tol & 6,400 6,400 0
< 2,560
Al 3,840
11 AISISAIAISEE = 6,400 6,400 0
OLQOHUDS 2% 6,400
= 2,560
Al 3,840
LS MEOtY 190,644 179,784 10,860
< 80,003
Al 110,641
201 et 1,000 1,840 A 840
01 At 22l 1,000 1,840 A B840
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HE S 0HY| 400,000& *23| x1H 800
_ = sy 2,640
HoHFZ A 120,000& x12& x1H 1,440
WEE x| 100,000 128 «1H 1,200
— X 51,7102 252 x1H 1,293
Jleddl 136,312 124,376 11,936
Jl2&4l 136,312 124,376 11,936
201 2Et24Hy| 38,832 35,536 3,296
01 AP 22| d| 38,832 35,536 3,296
OFMEY JI=22ZHl 38,832
202 044l 93,280 84,640 8,640
01 2L I 93,280 84,640 8,640
O=2U0H| 93,280
203 R F & 4,200 4,200 0
04 EASHEIRFAH| 4,200 4,200 0
OBAM2g9g2=&Y| 4,200
WRES (ASISTID) (ASI =X/ HELOA) 1,459,300 124,300 335,000
WEAHA K= 60,000 220,000 A 160,000
LHEAHH K= 60,000 220,000 A 160,000
7020128E3 60,000 220,000 160,000
o1 01282 60,000 220,000 A 160,000
okel=Ex212 60,000
BHEX= 1,399,300 904,300 495,000
BEI= 1,399,300 904,300 495,000
802 Bt&t = | Ef 1,399,300 904,300 495,000
01 2DNEX36tE 2 748,300 388,300 360,000
OO =X 325,000
OLel=EX 88,300
OWHd=EX 60,000
Oots&dad 75,000
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